Coordinate

1. What is the vertical axis called?

2. What is the x coordinate of the point (4,8)

3. What is the y coordinate of the point (3,9)?

4. What are the coordinates of point A, B, and C 5. Mark point B(3,6) and C(6,3) on the graph
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1) Plot the following co-ordinates on the above co-ordinate grid.

A(1,3),B(3,5), C(9,3), D(7,0), E,5)F(-2, 5), G(-5,5), H(-7,2), 1(-4,9),
J(-5,7) K(-5,-7) L(-3,-5) M(-9, -4) N(-2,0) O(-6, -9) P(7,-3) Q(5, - 6) R(8, -2) S(7, -9)

T(8, -2) U(-2, 0), V(0, -5) W(10, -10) X(-7, 0) Y(O, 9) Z(0, 8)
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